FOREST AV

WWW.FOREST-AV.COM

~7l  SKU: FOR1200S ' 2
v : ® © © o o
7
ki ﬂ D v
DR M8X35 M8X55 M6X35 M6 M8
1x| | 2X 4x 33X 3X X
= Multi-functional and i B \%
professional mobile stand ; o . @ O
= For TV panels:32”-70" i ‘ (] M8 Ms M8
= Max VESA:600x400mm 1 e’ B X M
u L_oad capactiy:125lbs - ) k) [} ® N ®
= Tilt angle:0° ] | N QEd Ep gE® S
1x MBX25 M6X25 M5X25 M6 M8 M8
U 1x X 4x 4x X 4x 4x
2. Step5 Right upper poles ] ]

0 Step5 U U

Left upper poles

Step5. Use thumb or finger to depress the right upper pole spring
plunger ball located near the cable opening,and pull upper pole
upward until the desired height is reached .Twist upper pole toward Lower poles ﬁ o
the plunger hole's direction and engage the spring ball into the plunger —~ .
hole as shown in fig-1. o ®

*Please make sure spring is fully latched before mounting TV

Step6. Repeat with left pole. Spring plunger |

Step10

e o/®
[ T @‘@\‘%
ey 0/0/0
- ® /o
el =, /00
=
M8X25 (J) M8X25 (J) M6X25 (K) M6X25(K)
M5X25 (L) M5X25(L)



